— - B GREERPR(EREAIIEE - —F 3 AHE 60 5)
1.

SRS S FEEBEEBESR

LEFESA CBROEEA  AHEA  MBEEBER
MR st A S A BEER - RAEKR

7825 8%=8

(%1 B4 ')

2 7 AR

A sunk cost is one that

a.

b. was paid in the past and will not change regardless of later decisions

c. should determine the rational course of action in the future

d.

€.

changes as the level of output changes in the short run

has the most impact on profit-maximizing decisions

influences rational decision makers

If marginal cost is greater than average total cost then

a.
b.
c.
d.

€.

profits are increasing

economies of scale are becoming greater
average total cost remains constant
average total cost is increasing

average total cost is decreasing

(FRAAEREL)

If expansion of an industry’s output causes a downward shift of firms’ average total cost curves,

a.
b.
c.
d.

e.

each firm earns a long-run economic profit
all of the following are correct

there will be long-run economic profits

it is a decreasing-cost industry

it is an increasing-cost industry

A natural monopoly is producing an output level of 1000 units per day. If the monopoly is broken up into 5 firms, then average

total cost for each of the 5 firms

a.
b.

2]

will exceed the monopolist’s average total cost

will equal the monopolist’s average total cost

. will fall below the monopolist’s average total cost
. may equal or fall below the monopolist’s average total cost

. may equal or exceed the monopolist’s average total cost

Rent seeking lowers profits by

a.
b.
%

d.

e.

shifting the market demand curve to the right
shifting the market supply curve to the left
shifting the ATC curve upward

shifting the ATC curve downward

flattening the marginal revenue curve

When a firm engages in perfect price discrimination,

a.
b.

C.

marginal revenue is equal to price
marginal revenue is below price

marginal revenue is below marginal cost

. profits are reduced relative to a single-price monopolist

. rent-seeking behavior must occur
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7. A firm in a monopolistically competitive market is similar to a monopolist in the sense that it
a. must overcome significant barriers to entry
b. faces a downward-sloping demand curve
c¢. produces a large share of the market output
d. is dependent on the actions of other firms

e. produces the same product ad its competitors do

8.  If the Gini coefficient decreases,
a. income inequality rises
b. compensating wage differentials fall
c. the Lorenz curve moves closer to the diagonal line
d. the poverty rate falls

e. the Lorenz curve moves farther away from the diagonal line

9. Production possibilities frontiers are typically concave (bowed out) from the origin because

a. of the law of supply

b. there is usually a one -for-one trade-off in resources used in production
c. economies of scale enable firms to reduce the average costs of production as output rises
d. the opportunity costs of a good rises as the quantity of the good produced increases

e. resources are often left idle in the firm

10. For a given supply curve , the more inelastic the demand for a good,
a. the more of an excise tax that is paid by sellers
b. the less an excise tax us shifted
c. the smaller the burden of an excise tax
d. the more of an excise tax that is paid by buyer

e. the smaller the increase in market price following imposition of an excise tax

11. Lin is maximizing total utility while consuming food and clothing. Her marginal utilities of food and clothing are 50 utils and
25 utils, respectively. If clothing is priced at $10 per unit, the price of a unit of food
a. must be rising
b. must be falling
c. must equal $10 as well
d. must equal $20

e. cannot be determined without additional information

12. A price floor in a perfectly competitive market

a. creates more harm for sellers than gain for buyers *ﬁﬁﬁﬁﬁpﬁlj

b. is effective only it is sct at the equilibrium price

c. is a Pareto improvement
d. can turn an inefficient outcome into an efficient outcome

e. creates more harm for buyers than gain for sellers
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Which of the following is a definition of value added? Revenue received by a firm for its output
a. minus the cost of all the final goods bought

b. plus the cost of all the intermediate goods bought

c. minus the cost of all the intermediate goods bought

d. minus the cost of all the interest payments

e. plus the cost of all the final goods bought

A decrease in the government’s budget deficit will

a. increase the supply of loanable funds, lower the interest rate, and increase investment spending
b. reduce the supply of loanable funds, raise the interest rate, and reduce investment spending

c. increase the demand for loanable funds, raise the interest rate, and reduce investment spending

d. reduce the demand for loanable funds, lower the interest rate, and increase investment spending

e. increase the supply of loanable funds, reduce the demand for loanable funds, leave the interest rate unchanged, and increase

investment spending

If aggregate expenditure was less than GDP, which of the following would happen?
a. Inventories wouIﬂ shrink and GDP would drop in future periods

b. Inventories would grow and GDP would drop in future periods

c. Inventories would shrink and GDP would increase in future periods

d. Inventories would grow and GDP would increase in future periods

e. Inventories would not change and GDP would drop in future periods

Assuming that households do not change their cash holdings and banks loan out all of their excess reserves, if the required
reserve ratio (RRR) is 10 percent and the Fed purchases$2,000 worth of bonds from banks, how much money will be

eventually created?
a. $1,800

b. $2,000
¢. $9,000 AR HREPR]
d. $18,000
e. $20,000

If the federal government announces a tax cut, which of the following is most likely in the short run?
a. a decrease in output, an increase in money demand, and an increase in the interest rate

b. an increase in output, an increase in money demand, and a decrease in the interest rate

c. a decrease in output, a decrease in money demand, and a decrease in the interest rate

d. an increase in output, a decrease in money demand, and a decrease in the interest rate

€. an increase in output, an increase in money demand, and an increase in the interest rate

In the short run, an increase in the money supply will
a. decrease the interest rate, increase real GDP, and decrease the price level
b. increase the interest rate, decrease real GDP, and decrease the price level

c. result in decreases in the interest rate and real GDP, which are then followed by increases in the interest rate which offset

some of the change in real GDP
d. result in decreases in the interest rate and increase in real GDP, which are then followed by increases in the interest rate which

offset some of the increase in real GDP
e. result in increases in the interest rate and decrease in real GDP, which are then followed by decreases in the interest rate which
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19. If money demand changes for some reason other than a spending shock, the Fed can stabilize
a. GDP without changing the interest rate
b. GDP, but at the expense of interest rate stability
c. GDP by keeping the interest rate stable
d. the price level by keeping the interest rate stable
e. the price level and GDP by stabilizing the interest rate

20. If the U.S interest rate falls relative to the British interest rate,
a. the U.S demand for pounds will increase
b. the U.S demand for pounds will decrease
c. the U.S demand for pounds will not change
d. there will be a rightward movement along the U.S demand curve for pounds

e. there will be a leftward movement along the U.S demand curve for pounds
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